



MIDDLESEX
COMMUNITY COLLEGE

CHELMSFORD
HIGH SCHOOL



GET A HEAD START ON AN ASSOCIATE DEGREE IN LIBERAL ARTS & SCIENCES AT CHELMSFORD HIGH SCHOOL

THE PROGRAM

Chelmsford High School and Middlesex Community College have partnered to offer students a pathway to work towards a Liberal Arts and Sciences Associate Degree while attending CHS.

Through the Mass Transfer program students who earn college credit and/or complete an associate degree from a Massachusetts community college are eligible for full credit transfer to a 4 year state college or university.

DE courses offered at CHS are significantly discounted, allowing students to earn credit towards their degree at a remarkable savings.

DUAL ENROLLMENT COMPARISON *based on Massachusetts Residency

Institution	Cost per Credit	Total cost (including fees)
CHS/MCC Dual Enrollment	\$128	3 credit course: \$384 4 credit course: \$512 *There are no fees for DE courses
Middlesex Community College	\$257	3 credit course: \$771 4 credit course: \$1028 *Includes all associated fees
UMass Lowell	\$385	3 credit course: \$1155 4 credit course: \$1540
UMass Amherst	\$658	3 credit course: \$1974 4 credit course: \$2632

CONTACT : GABRIELLA DA SILVA
DASILVAG@CHELMSFORD.K12.MA.US



MIDDLESEX
COMMUNITY COLLEGE

CHELMSFORD
HIGH SCHOOL



GET A HEAD START ON AN ASSOCIATE DEGREE IN LIBERAL ARTS & SCIENCES AT CHELMSFORD HIGH SCHOOL

THE PROGRAM

Chelmsford High School and Middlesex Community College have partnered to offer students a pathway to work towards a Liberal Arts and Sciences Associate Degree while attending CHS.

Through the Mass Transfer program students who earn college credit and/or complete an associate degree from a Massachusetts community college are eligible for full credit transfer to a 4 year state college or university.

DE courses offered at CHS are significantly discounted, allowing students to earn credit and/or their degree at a remarkable savings.



For more Information scan the QR Code!

CONTACT

GABRIELLA DA SILVA

DASILVAG@CHELMSFORD.K12.MA.US

Associate Pathway

The following pages outline the path students will need to take in order to earn enough credits to complete an Associate Degree just after high school graduation.

COURSES IN BLUE MEET THE REQUIREMENTS FOR CHS GRADUATION.

DUAL ENROLLMENT COURSES IN RED MEET THE REQUIREMENTS FOR THE ASSOCIATE DEGREE AND CHS GRADUATION.

SCORE OF 3 OR HIGHER IS REQUIRED ON AP PSYCHOLOGY EXAM FOR COLLEGE CREDIT.

The dual enrollment courses will also meet the requirements for your CHS diploma. Students interested in this path will need to meet with the Career and College Facilitator and their guidance counselor regularly to ensure that they are on target to meet the requirements.

*Offerings may vary

Expected Costs

Students/families are responsible for the cost of all dual enrollment courses after a student registers with Middlesex Community College. Tuition costs \$128 per credit. Most classes offered at CHS are 3 credits or \$384 total. Some of the science courses are 4 credit classes and will cost \$512 total. The cost of tuition is subject to change annually.

Institution	Cost per credit	Total Cost (estimates may not include all fees)
CHS/MCC Dual Enrollment	\$128	\$7680-\$9000
UMass Lowell	\$385	\$23,100 (does NOT include housing/meal plan-based on 2 years to complete 60 credits)
UMass Amherst	\$658	\$39,480 (does NOT include housing/meal plan-based on 2 years to complete 60 credits)

*Pricing is based on the academic year and is subject to change.

FRESHMAN YEAR

CAREER & COLLEGE READINESS I- IDS 101

ENGLISH 9

MODERN WORLD HISTORY

SCIENCE

MATH

WORLD LANGUAGE

HEALTH & WELLNESS

DE ELECTIVE

FINE/PERFORMING ART

PRACTICAL ART
ELECTIVE

SOPHOMORE YEAR

CAREER & COLLEGE READINESS II- IDS 106

ENGLISH 10

DE U.S.HISTORY I

SCIENCE

MATH

WORLD LANGUAGE

**DE LAB SCIENCE
ELECTIVE**

DE MONEY SMART

**PHYSICAL EDUCATION
COURSE**

**DE HUMANITIES
ELECTIVE**

JUNIOR YEAR

DE MODERN AMERICAN LITERATURE

DE U.S. HISTORY II

DE CHEMISTRY

DE STATISTICS

DE WORLD LANGUAGE 4

DE SOCIOLOGY

DE FINE/ PERFORMING
ART ELECTIVE

DE ENGLISH COMP 1

PHYSICAL EDUCATION COURSE

SUMMER AT MCC

DE MATH ELECTIVE*

SENIOR YEAR

DE MODERN WORLD LITERATURE

AP PSYCHOLOGY

**DE HUMANITIES
ELECTIVE**

ELECTIVE

DE NUTRITION

ELECTIVE

DE ELECTIVE

ELECTIVE

DE ELECTIVE

ELECTIVE

SPRING MINI-MESTER AT MCC:

ENGLISH COMPOSITION 2

REQUIRED COURSES

CAREER & COLLEGE READINESS I = 1 CR
CAREER & COLLEGE READINESS II = 1 CR
DE MONEY SMART = 1 CR
DE U.S. HISTORY I = 3 CR
DE U.S. HISTORY II = 3 CR
DE MODERN AMERICAN LITERATURE = 3 CR
DE MODERN WORLD LITERATURE = 3 CR
DE CHEMISTRY = 4 CR

DE STATISTICS = 3 CR
DE SOCIOLOGY = 3 CR
AP PSYCHOLOGY = 3 CR
DE MATH ELECTIVE* = 3 CR
DE ENGLISH COMP 1 = 3 CR
DE ENGLISH COMP 2* = 3 CR
DE NUTRITION = 3 CR

HUMANITIES ELECTIVES

DE JOURNALISM = 3 CR
DE SPANISH IV = 3 CR
DE FRENCH IV* = 3 CR
DE DIGITAL PHOTOGRAPHY = 3 CR
DE STUDIO 3 = 3 CR
DE PHILOSOPHY* = 3 CR

GENERAL EDUCATION ELECTIVES

DE MARKETING = 3 CR
DE BUSINESS CAREER PATHWAYS = 3 CR
DE E- COMMERCE = 3 CR
DE ENTREPRENEURSHIP = 3 CR
DE ACCOUNTING = 3 CR
DE MANAGEMENT = 3 CR
DE SUPERVISION/PRACTICUM = 3 CR
DE DISCOVER TEACHING = 3 CR
DE CHILD GROWTH/DEVELOPMENT = 3 CR
DE AP GOVERNMENT = 3 CR

LAB SCIENCE ELECTIVES

DE BIOTECHNOLOGY I = 4 CR
DE ENVIRONMENTAL STUDIES = 4 CR
DE FORENSIC SCIENCE = 4 CR
AP BIOLOGY = 4 CR
AP CHEMISTRY = 4 CR
DE PLTW AP COMP SCI A = 4 CR
DE INTRO TO PROGRAMMING = 4 CR

*CLASSES OFFERED AT MCC ONLY

MATH ELECTIVE = 3 CR
ENGLISH COMP 2 = 3 CR